



Past year Final Exam

NUR 411/415
<Q1>All of the following are considered indications for PTCA except:

<C>Elderly patients with poor left ventricle function

<C>Blockage of one or more coronary arteries
<C>Residual obstruction in a coronary artery during heart attack 

<C+>Left main coronary artery disease

<Q2>During PTCA procedure; the Activated Clotting Time (ACT) should be maintained at level of:

<C>60 – 80 second

<C>160 – 180 second

<C>200 – 250 second

<C+>250 – 300 second

<Q3>Post PTCA procedure; the sheath should be removed after:

<C>1/2 - 1 hour

<C+>3 – 4 hours

<C>6- 8 hours

<C>10 – 12 hours

<Q4>All of the following interventions should be performed after PTCA procedure except:
<C>Monitor ECG and V/S

<C>Avoid flexing of cannulated leg
<C+>Bed rest 4 – 6 hours from time of finishing procedure
<C>Avoid coughing and sneezing

<Q5>while using Intra Aortic Balloon Pump (IABP), coronary blood flow and perfusion increase during:

<C>Diastolic phase by deflating the balloon

<C+> Diastolic phase by inflating the balloon

<C> Systolic phase by deflating the balloon

<C> Systolic phase by inflating the balloon

<Q6>which of the following statements is considered to be  true about IABP?
<C>Weaning should be finished and balloon pump is removed when the assist ratio is at 1:6

<C>The appropriate position of the balloon is just distal to right subclavian artery and proximal to renal arteries

<C>Patient should start on heparin six hours prior removal of IABP

<C+>Compartment syndrome is one of the complications that can be happened in the cannulated leg

<Q7>which of the following conditions is considered to be contraindicated for IABP?

<C>Cardiogenic shock

<C>Sever Unstable Angina

<C+>Aortic Aneurism

<C>Mitral Regurgitation post MI

<Q8>During CABG surgery, the left internal mammary artery is usually grafted with:

<C>Right coronary artery

<C+>Left anterior descending artery

<C>Circumflex artery

<C>Posterior descending artery

<Q9>The cardioplegic solution that used during CABG surgery is rich with:

 <C>Sodium

<C+>Potassium

<C>Magnesium

<C>Chloride

<Q10>All of the following are considered to be manifestations of surgical site pain after CABG surgery except:
<C>Localized at mediastinum

<C>Sever first 3 -4 days

<C>Increase with cough and walking

<C+>like heaviness or pressure
<Q11>which of the following statements is considered to be true about care post CABG surgery?

<C>Body temperature should be obtained rectally first 8 hours

<C>Chest tube drainage should be more than 200 cc per hour

<C>Urine out put should be less than 30 cc per hour

<C+>Patient should wake up as soon as possible

<Q12>which of the following statements is considered to be true about peripheral chemo receptors?

<C>They are located in medulla oblongata

<C>They are primarily sensitive to changes in CO2 levels in arterial blood 

<C>They are sensitive as central chemo receptors

<C+>They become the major stimulus to ventilation when center chemo receptors are reset

<Q13>Which of the following conditions is considered to be a cause of metabolic acidosis?

<C>Administration of diuretic

<C+>Renal failure

<C>Vomiting

<C>Hypokalemia

<Q14>Analyze and interpret the following ABGs; PH: 7.43, PCo2: 30, HCO3: 18, PaO2: 91

 <C>Mixed respiratory and metabolic alkalosis with mild hypoxemia

<C+>Fully compensated respiratory alkalosis 

<C>Fully compensated metabolic alkalosis 

<C>Partially compensated respiratory alkalosis with mild hypoxemia

<Q15>Analyze and interpret the following ABGs; PH: 7.30, PCo2: 40, HCO3: 17, PaO2: 88

<C> Uncompensated metabolic acidosis with mild hypoxemia

<C+>Uncompensated metabolic acidosis

<C>Partially compensated metabolic acidosis with mild hypoxemia

<C> Partially compensated respiratory acidosis with mild hypoxemia

<Q16>All of the following are considered to be true about fluctuation or bubbling in chest tube drainage system except: 
<C>It is seen in water seal chamber

<C>It rises with inspiration and fall with expiration 

<C+>It indicates air leak between patient and drainage system

<C>It will stop when there is clot in tubing of drainage system

<Q17>Milking is a technique performed when:

<C>Chest tube is dislodged

<C+>Clot presents in tubing of drainage system of chest tube

 <C>Air leak presents in chest tube or drainage system

<C>Drainage system is break down

<Q18> Arterial pressure monitoring indicated for:

<S> N

<C> Patient receiving vasoactive infusion drug

<C> Patient with fluctuated BP

<C+>All of the above.

<Q19> The non modifiable risk factors associated with CVD includes all of the following except:

<S> N

<C> Age

<C> Sex

<C> Race

<C+> None of the above.

<Q20>To calculate drug dose in cardiac patient, the nurse must obtain data about:

<S> Y

<C> Facial expression

<C> Body posture

<C> Evaluate daily fluid intake

<C+> Height and weight  

<Q21>Hyperkalemia result from renal failure only:

<S> N

<C+> False

<C> True

<Q22>The nurse would be most concerned about premature ventricular contractions that:

<S> Y

<C+> Fall on a T wave

<C> Occur at a rate of 4 per minute

<C> Are uniform in appearance

<C> Occur with angina

<Q23>The nurse notes that a client in the CCU has developed pulseless ventricular tachycardia and is unconscious. Which of the following emergency measures is indicated first?

<S> Y

<C> Lidocaine

<C> Quinidine

<C> Cardioversion

<C+> Defibrillation

<Q24> Ms. N.'s electrocardiogram reveals a rapid atrial rate of 300 beats per minute. The P waves resemble a picket fence without 1:1 conduction. The nurse identifies this dysrhythmia as:

<S> Y

<C> Atrial tachycardia

<C+> Atrial flutter

<C> Atrial block

<C> Atrial fibrillation

<Q25> Which of these findings provides a more accurate indication of tissue perfusion? 

<S> N

<C+> Cardiac index

<C> Cardiac output.

<C> Stroke volume 

<C> None of the above.

<Q26> You are about to removing a central line catheter from the right jugular vein of your patient. To prevent air embolism complication you should do all of the following EXCEPT:

<S> Y

<C> Turn patient to left side

<C> Put the patient in the Trendelenburg position

<C> Ask the patient to exhale and hold his breathing right before you take out the catheter

<C+> Remove the catheter cap and open the catheter to the air right before you pull it out.

<Q27> Ms. G. is a 30-year-old client who has sustained head injury as the result of an automobile accident. Vital signs one hour ago were: T 98.8°F, P 76, BP 124/72. The nurse takes a current set of vital signs, which includes: T 98.4°F, P 56, BP 160/54. Which of the following actions should the nurse take next?

<C>Lower the head of the bed

<C>Prepare to administer lidocaine.

<C>Begin oxygen via nasal cannula.

<C+> Notify the physician immediately.

<Q28> While caring for patient with increased intracranial pressure it is important that the nurse:

<C>Keep head of the bed flat

<C+>Avoid neck and hip flexion

<C>Keep head of the bed elevated to 90 degree

<C>Maintain hip in a flexed position

<Q29> The drug of choice for reducing ICP after brain injury is:

<C>administer steroids drug.

<C>administer calcium channel blockers

<C>administer beta blockers.

<C+>Administer mannitol 

<Q30>which of the following actions are appropriate for the acute care of the head-injured patient?

<C>remove any cervical immobilization device

<C>maintain the cerebral perfusion pressure less than 60 mmHg

<C+>elevate the head of the bed 30 degree to promote venous drainage from the head

<C> do not suction secretions from the patient because that will cause increase in ICP.
<Q31>The test that is done by irrigating each ear by 30-50ml iced water when patient’s head elevated 30 degrees is:

<C>Oculocephalic reflex

<C+>Oculovestibular reflex

<C>Kering’s reflex

<C>Brudzinskis reflex

<Q32> Calculate Cerebral Perfusion Pressure (CPP) if BP is 250/100mmhg, and intra cranial pressure 50 mmhg, temp 37c orally, heart rate 100b/m is: 

<C>150

<C+>100

<C>250

<C>125

<Q33> Battle sign (bruising over mastoid area) indicates:

<C+>Basal skull fracture 

<C>Fronto basilar fracture

<C>fracture of temporal bone

<C>Herniation of a fragment of dura

<Q34> Mr. X had a road traffic accident (RTA), open his eye to speech, in appropriate words & with draws from painfull stimuli , glascow coma scale (GCS)  for him is :

<C>6

<C>7

<C>8

<C+>10 

<Q35> Stuporous is:

<C>arousable with stimulation, respond verbally with a word or two

<C>drowsy but follows simple commands when stimulated

<C+>very hard to arouse , may follow simple commands or speak simple words, limited spontaneous movements

<C>movements are purposeful when stimulated, does not follow commands or speak coherently .

<Q36>All of these are causes of pin point pupils except:

<C+> Narcotics like pethedine

<C>Nearly dead 

<C>Medications for glaucoma 

<C>Non of the above 

<Q37> Oculocephalic reflex  (doll’s eye) is tested in unconscious patients to determine:

<C>Brain death

<C+>Brain stem functioning 

<C>Level of coma

<C>cranial nerve function

<Q38>all of these are causes of increase intra cranial pressure except : 

<C>seizures

<C+>hypocapnia

<C>tumors

<C>Non of the above 

<Q39>Moderate head trauma occurs when: 

<C>GCS 13-15, amnesia for 60 minutes, no abnormal on ct scan

<C>GCS 9-12, amnesia for more than 24 hours, may have abnormal on CT scan

<C+>GCS 9-12, amnesia for 1-24 hours, may have abnormal on CTscan

<C>GCS9-12, amnesia for 1-24 hours, no abnormal on CT scan 

<Q40>All of these are primary head injury except:

<C>Scalp laceration

<C>Contusion

<C+>Cerebral edema

<C>Non of the above 

<Q41>Patient with head injury will have:

<C>Hyponatremia

<C>Hyperglycemia 

<C>Diabetes insipiduous

<C+> all answer

<Q42> Neurogenic pulmonary edema may result from injury to :

<C>Pons

<C>Cerebellum

<C+>Brainstem

<C>Non of the above.

<Q43> Which one is true regarding contusion and concussion? 

<C>In concussion there is structural abnormality on CT scan, in contusion no abnormal on CT scan.

<C+>In contusion there is structural abnormality on CT scan, in concussion no abnormal on CT scan 

<C>Concussion more danger than contusion

<C>Non of the above 

<Q44> The classic signs of increased intracranial pressure include:

<C>Dilated pupils, hypotension, tachycardia

<C+>Elevated systolic pressure, widened pulse pressure, bradycardia respiratory irregularities

<C>Respiratory irregularities, elevated systolic pressure, tachycardia

<C>None of the above

<Q45>All of the following are ICP compensatory mechanisms EXCEPT:

<C>Shunting CSF into the spinal subarachnoid space

<C+>Shunting venous blood into the spinal subarachnoid space

<C>Increase CSF production

<C>decrease CSF production

<Q46>Which of the following abnormal posturing would indicate the poorest prognosis in a brain-injured patient?

<C>abnormal flexion

<C>abnormal extension

<C+>decerebrate posturing

<C> decorticate posturing 

<Q47>The anesthesiologist hyperventilates a client during a neurosurgical procedure. The nurse recognizes that the purpose of this maneuver is

<C>reduction in the pulse rate

<C+>reduction in ICP

<C>reduction in vascular pressure 

<C>improved pulmonary function

<Q48> Because the pt is receiving a high tidal volume and a high PEEP that delivered from mechanical ventilator so the nurse should be aware of the following patho physiological changes EXCEPT:

<S> Y

<C> Emphysema

<C>Decreased cardiac output

<C> Pneumothorax

<C+>Decreased CVP

<Q49> Criteria that you look for before weaning your patient from mechanical ventilator include all of the following EXCEPT:

<S> Y

<C> Vital capacity 10-15ml/kg

<C> Hemodynamically stable

<C> PEEP <= 5cmH2O

<C+> Hematocrit less than 25%.

<Q50>All of the following are correct about the SIMV mode EXCEPT:

<S> Y

<C> Protect respiratory muscle from atrophy

<C> Make weaning easier

<C> Allow patient some control over breathing

<C+>Decrease work of patient breathing

<Q51>The tidal volume that should be set for patient weight 60kg is:

<S> Y

<C>500-600ml

<C>400-600ml

<C>1000-1200ml

<C+>600-900ml

<Q52>The main problem in hypoxemic respiratory failure (type I) is in Oxygen transportation as a result of pulmonary parenchymal disease:

<S> N

<C+> true

<C> false.

<Q53>Signs and symptoms of respiratory failure include:

<S> N

<C>Tachypnea

<C>Tachycardia

<C>Dyspnea

<C+>All of the above.

<Q54>Which factor contributes to ventilatory respiratory failure (type II):

<S> Y

<C>Increased ventilatory drive

<C>decreased resistance to air movement

<C>Decreased ventilation load

<C+>Decrease in neuromuscular competence of chest wall and lung to meet O2 demand

<Q55>The purpose of PEEP in patient with ARDS is:

<S> Y

<C>Limiting the plateau & peek airway pressure

<C+>To maintain open alveoli

<C>Remove carbon dioxide

<C>Decrease venous return.

<Q56> The pathophysiological changes associated with ARDS are primarily the result of:

<S> Y

<C>Pulmonary embolus associated with immobility

<C>High level of oxygen administered to the patient

<C>High levels of carbon dioxide associated with respiratory distress

<C+>The release of inflammatory mediators

<Q57> The treatment of respiratory failure includes the following:

<S> N

<C> Bronchodilators.

<C> Antibiotics.

<C> Mechanical ventilation

<C+> all of the above.

<Q58> The significant role of the nurse in managing ARF includes all of the following except:

<S> N

<C> Optimize oxygenation and ventilation.

<C>Provide comfort and emotional support.

<C> Maintain surveillance for complication

<C+> none of the above.

<Q59> The pt will be weaned from the mechanical ventilator (MV) and supplemental O2 when he can breath on his own & maintain a PaO2 in the range of:

<S> Y

<C>  40-50 mmHg

<C> 50-60 mmHg.

<C+> 80-100mmHg.

<C> none of the above.

<Q60> ABG results for Mr .T who was attached  to mechanical ventilator (mode; SIMV, TV; 700, FIO2;60%, RR=14) were: Po2=144, So=100%, Co2=33, Hco3=22. in order to maintain  optimal oxygenation and ventilation, the nurse should:
<C+> Reduce FIO2

<C> increas Tv

<C> increase the frequency of the ventilator

<C>all of the above
<C> none of the above
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